Elevator Questions
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Solving Force Questions P (VS
Step 1: Draw a picture and a force diagram '}S
Step 2: Write Fnet equations for horizontal and vertical \p 1& @5 ((;.—
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b) What does the scale read if the elevator is accelerating upwards at 4 m/s/s.
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c) What does the scale read if the elevator is accelerating downward at 7m/s/s?
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Tension Questions
Tension is the force within a rope. The rope transfers the force at one end and redirects it to the

other end.
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Problem 2: A 58kg astronaut on the moon (g=1.6m/s/s down) climbs a rope that has a maximum
breaking force of 750N. What is the maximum acceleration up the rope? e
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